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=~ Chapter 2 ~ Review

" 1. Conditionals are known as ]F - 'H’]{n S'm+CMtH'\‘S

2. A conditional statement, symbolized by p — q, can be written as an “if-then” statement in which p is
the \

3. A conditional statement, symbolized by p — q, can be written as an “if-then” statement in which q is

the CONClUS ION

4. A conditional statement of “If p, then q” is expressed symbolically as ID 7 Q'
5. A conditional statement that is expressed as “If q, then p” is called the Converce, ;

6. A b‘lif (@) Kj Ai OVYQ I statement is a statement that contains the phrase “if

and only if.”
7. Ifboth p and q of the c%n—:/,eFr,se are negated, itiscalleda _CO /T O, L Q;‘L'ft'\\ Ve S *WT € me\n‘l’
8. What is a conjecture? £\ Cot: ed Q‘UQ sS
9. Inductive reasoning is based on Da.ﬂ"&ms and deductive reasoning is

rules, definitions, fads

10. A counterexample invalidates a statement. FALSE

11. Write the negation of: Points on the same plane are coplanar.

Points Not on the same plane are noncoplanar

12. When a conditional and its converse are true you can combine them as a

x biconditional Statement

13. A PY‘OOF uses facts, definitions, accepted properties, and the laws of logic to form a

logical argument.

Use this statement. “If you are a vegan, then you eat vegetables” to answer the questions.

14. What part is the hypothesis? YO U Ore o. Ve 3 an

15. Which part is the conclusion? U\dO\.L -C,d-f \/C% L{TQBICS r

Give counter-example to show that each statement is not always true.
16. Odd integers less than 10 ‘ﬁ: prime.

Counterexample e Number 41s odd, but Mo'\’PviMe.

17. If you live in a country that borders the United States, then you live in Canada.

Counterexampte s Mexico also borders the Unied Stodes



Write a conditional statement for the situation described, and then write its converse,
inverse, and contrapositive.

Two angles that have a sum of 180° are supplementary.

7 8.Conditi : 5 e conclusion)
&@ 1€ éwo ahales have a sum of 1800 Yhen Hhey ave,

(T) Supplementary,

19.Converse:

|f two Gnales are Supplementary, then houwre a sum
7 g 2 PP LA P

;rvq.lnvleése‘tmo ana)\cs do N’O.‘» hO‘V‘Cf G Sum Op '%O‘, “W\Cn %\Lﬁ
: ‘5 are wot supp \tmmmh\j'

B3 (=

ontrapositive:

{fji\"’“’? |£ 4wo angles are Not Supplementary, en thaydo |
ot hawe o Sum of 190.

22, If possible, write the biconditional statement, if not tell why.

TWo angles hove o Sum of 190° i and (mw;"‘f
ey are Supplementary.

4 biconditional Statement ¢ e conciHonal and e converse
Myst both be Jrve/

Decide whether inductive or deductive reasoning is used to reach the conclusion.
Explain your reasoning.

23. For the past three Wednesdays, the cafeteria has served macaroni and cheese for lunch.
Dana concludes that the cafeteria will serve macaroni and cheese for lunch this Wednesday.

Tnductive ReaSon‘mg (potterns)

24. If you live in Nevada and are between the ages of 16 and 18, then you must take driver's
education to get your license. Anthony lives in Nevada, is 16 years old, and has his driver's
license. Therefore, Anthony took driver's education.

Deduchive Rea&om‘m@ (rules, lows)
25. Find the missing elements in the sequence below. C() Yre Cho N o’
2, 458,714, 22,32

-4y
N\ NN\ \/ \?‘—2/58’\74\9/ﬂ9 112, . @
24 068 logz 1§ lb 1%



26. The first through fifth figures in a pattern are shown below. Draw the ninth figure in this
pattern.

1 2 3 Y S q
Name the property that justifies the statement: *PBP% ab "'O ’\dm 'h% A-:—-l:_L
27.1f 4R = /S, then £S = (R. %\I mmd'ﬂc, Do,
28.If 2D = E, and £E = /F, then 2D = /F. Trams hve, POC
29.1f3(x—2) =6, then 3x-6=6 D\sﬁ\bwbve, phoD
30. m1 = m/]1 Ref lexive DOE
31.1f AB + XY = CD + XY, then AB = CD Subtroction PoE
32. If JK = KL, then 2JK = 2KL M\LH"\p\'\CodﬁOh POE
33.If 2PR = PS, then PR = (1/2)PS Division PoE

34. If AB + BC = AC and BC = 7, then AB + 7 = AC SUbS‘h'hkﬁ oN
K Becawsse I amn Subsh\w\'m?) \nto AbDition, 1t1s cleary substitulan

35. Given: mZAOB = 2x, mZBOC = 5(x-3), mZAOC = 139.

Prove: x = 22

Drawing not to scale

Statements Reasons

m/AOB = 2x, m/BOC = 5(x-3), m<AOC = 139. Given
% ADB+ M 2ABOL = MAADL, Bnole. Addition Poghulate,

22X + 5(x-3) =132 Subst fution

2x +5x ~15 = 139 Distribuhon

Tx-15= 139 C.L.T.
TX=154 AddiHion POE
X*Z1 Division PoE




36. Given: B is between A and C. And AC = 35,
Prove AB = 12

Drawing not to scale

Statements Reasons
B is between A and C. And AC = 35, Q, We N
AB 4+ BC - AC Segment Addition Postulate
3x+ HYx+1= 35 Subshtution
IX+1 =35 G LT,
Ix =29 Subtraction POE
X=H Division POE
pAB= 3x Glven
AR = 3 (W) Subshtution
AR =12 S\‘mp\(ﬁ:} /C.LT.

37. Given: B is the @f AC.

3x+5 9x - 13
Prove: x = 3 ® } Ppr=—i e
A B C
Statements Reasons
B is the midpoint of AC Given
A8 = BC Def of Midpeint
AR = BL Def of Conarvence
3x+5 = 9% 13 Substhhur dn
S5zbx-13 Subtrachon POE
1R = bx A ddiNon PoE
3=X Division ot

X=3

S\vrmerric POET




' 38. Write the next equation in the sequence below. Look for a pattern, and make a

conjecture. Pa -\-\».e,\rn ° \.P bo\k 0dd. MNMe next
1+3=4 oddumber e Onsuser 1S

1+3+5=9 e nexr *pe\"{:ec\' sovare /
1+3+5+7=16

[14345+7+9=25

rﬁca\ A's ave =
} 3‘_\/= Y- 22X

Ly=v-2304
o (0x+8r|(y—230° 27, 7/ (+)

4{ Verhen| £%are & )

6x+4y)

B ar S(M) iy 150

(3x +

e J;)“?"' L > 70+le§ 30
=0
20X+ 9= %(zm-\) 7’ "2 3442 5(x-u) ﬁ_‘:::s
20%+®=24x- 9 y=184| 3X+8=5x-20
b =X 282X
4 =¥ [[4=X] so..... 3(H)+% = 50"

41. Set up a system of equations and,solve for x and y
VerHcal &'s are
pores / Hx } @g Ehmmahon
14x + f(4x + 10

7%
/ . M{/—uoy—ﬂ%
+ )('l’ 70)’357‘—I Ll)(-l',O(‘l):BZ_

R L B YW Y]
i Ux=12
X3






